
Math 150, Lecture Notes- Bonds  Name____________ 
    
Section 1.2 Finding Limits Graphically and Numerically 
 
Informal definition of limit: If   f x( )  become arbitrarily close to a single number  L  as  x  

approaches  c  from either side, the limit of   f x( )  as  x  approaches  c  is  L .  

The limit is written as . 
 
Complete the tables and use the result to estimate the limits. Use a graphing utility to graph the 
functions and confirm your results. 
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Limits That Fail to Exist 

 
 
Use the graph of  f  to find the following limits and function values. If the limit does not exist, explain 
why.   

 
 

Ex.4  (a)  
   
lim
x→4

f x( ) , (b)  
   
lim
x→1

f x( ) , (c)  
   
f 1( )  and (d)  

   
f 4( ) ,  

 

(a)  
   
lim
x→4

f x( )=  

 
 
 
 
 
 

(b)  
   
lim
x→1

f x( )= 

 
 
 
 
 
 

(c)  
   
f 1( )= 

 
 
 

(d)  
   
f 4( )=  
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Use the graph of  g  to find the following limits and function values. If the limit does not exist, explain 
why.   

 
 

Ex.5  (a)  
   
lim
x→3

g x( ) , (b)  
   
lim
x→0

g x( ) , (c)  
   
lim

x→−4
g x( ) , d)  

   
lim

x→−3
g x( ) ,  

(e)  
   
g 0( ) , (f)  

   
g −3( ) , and (g)  

   
g −4( ) ,   

 
 

(a)  
   
lim
x→3

g x( )=  

 
 
 

(b)  
   
lim
x→0

g x( )= 

 
 
 

(c)  
   
lim

x→−4
g x( )= 

 
 
 

(d)  
   
lim

x→−3
g x( )=  

 
 
 

(e)  
   
g 0( )= 

 
 
 

(f)  
   
g −3( )= 

 
 
 

(g)  
   
g −4( )= 
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Use the graph to find the following limit. If the limit does not exist, explain why.   

 
 

Ex.5  

   
lim
x→0
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the limit does not exist

due to  oscillation
.




